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Disequazioni goniometriche

(i) Risolvere le seguenti disequazioni goniometriche:
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(1) sin$>§, %+2k7r<:1:<67r+2k7r
2 5
(2) Sian_\/T_’ —g+2km§x§17r—|—2k7r
4
(3) sinx<£, 4 2kr<a < &4 2kn
2 3 3
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(4) cosxzi, v okr <o < I 4 2kn
2 4 4
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(5) cosz < o, g+2k7r<x<§7r+2k7r
3
(6) tgxzi, E+k7r§x<z+k7r
3 6 2
(7) tgr < —1, —g+kw<x§—%+kw
1 1
(8) tgx>—§, —arctg§+k7r<:c<g+k7r
(9) tgr < =3, —g+kﬂ<x§—arctg3+k7r
(10) 2008(%—2x>—\/§<0, %+k7r<x<7r+k7r
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(11) sin { 3 — 32 > =5 187r+37r x 6~|—37r

(12) ctg(x—i—g)zo, —g+kﬂ<$§%+kﬂ
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2cos’x + cosx > 0, §7T+2]€7T<JI<§7T+2]€7T\/—g+2k7r<$<g+2kﬂ'
7
2sin’z — 3sinz — 2 < 0, —%+2k7r<x<67r+2k57r

cos’ x4+ 2cosx > 0, —g+2k7r<x<g+2k7r

te?z — (1+V3)tgx +v3 >0,

—g+k7r<x§%—|—k7r\/g+k7r§x<g+k‘7r

sinz — 2sinz + 1 > 0, x#g—l—ﬂm

ctg?r 4+ 3ctgr +4 <0, x el

2sin?x + 4 cos’x > 5cos , g+2k7r<x<§7r+2k7r
cosx—i-\/gsinx—\/§>O7 %+2k7r<x<g+2k7r
sinx—cosm+\/7620, —%+2kw§x§%w+2]m
2sinx 4+ cosx+ 1> 0, —2arctg%+2k:7r§m§7r+2k:7r
sinz+2cosz+ 1 <0, 2arctg3+2k7r<x<g7r+2k7r
2V/3cos? z — 2sinz cosz < V3, %+/€7T<$<§7T+kﬂ'

3cos 2z 4+ 2v/3sinz cosz < 0, g+k7r<x<g7r—l—k:7r
tg%—tgm>0, —%+k7r<x<k:7r
tgz(2sinz — v/3) > 0, g+2k7r<x < g—I—QkW

sin® z — sin® z cosz — 3sinz cos® z 4+ 3cos® x < 0,
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£+2kﬂ§x§g+2kﬂv§7r+2k7rgx§177+2k7r\/§7r+2k7r§x§§7T+2k7r



2 4
(29) sin? g + cosz < cos® z, 3™ +2km <z < 3" + 2km

(30) s <0, g + 2k <x <7+ 2knm

1+\/§cos<x—g) B

3sin?z — cos? x

31
(31) 2cos?x —3cosx+1 7
5 7
—Z+2k7r<x§—z+2k7r\/z+2k7r§a:<E+2k7r\/—7r+2k7r§x§—7r+2k7r
3 6 6 3 6 6
(32) |sinx — cosz| < 1, k7r<x<g+k7r
(33) IV3tg?z — 2tg x| < V3, —%+k7r<:l:<%+2k7r
5 7
(34) 12 cos? x — V3 cos x| > 3, 67T+2]€7T <z < 87T+k‘71’
5 . T 2
(35) \/sm x—3cos?x < 2sinx + 1, §+2k7r§x§§7r+2k7r
3 5
(36) Vetgr < ctgxr — 1, km < x < arctg +2\/_+k7r



